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QUESTION 1

Which two locations allow for exporting and importing vRealize Automation blueprints? (Choose two.)
A. The vRA Plug-In in vRealize Orchestrator.

B. The vRealize CloudClient.

C. The Design tab of the VRA interface.

D. The Infrastructure tab of the VRA interface.

Correct Answer: AB

Reference: https://docs.vmware.com/en/vRealize-
Automation/7.3/com.vmware.vra.prepare.use.doc/GUID-43E01B1E3C01-4F25-961C-F5554D15F7A5.html

QUESTION 2

Which option applies to the machine prefix for a multi-machine vRealize Automation blueprint?
A. All machines must use the Use group default option for the machine prefix.

B. The machine prefix can be defined as a blueprint property for all machines.

C. The machine prefix can be defined as a dictionary custom property and assigned at the blueprint property level for all
machines.

D. The machine prefix can be different for each machine.
Correct Answer: D

Reference: https://docs.vmware.com/en/vRealize-Automation/7.3/vrealize-automation-73-customproperties.pdf page 13

QUESTION 3

Which option would explain why servers become unavailable during a vRealize Automation installation when the install
wizard is fixing the prerequisites on the Windows laaS servers?

A. One or more of the fixes for the prerequisites requires a reboot.

B. IPSec must be disabled on all Windows systems to prevent connection issues.
C. The vRA appliance disconnects the servers as part of the registration.

D. The laaS integration service must be restarted due to instability.

Correct Answer: A

Reference: https://docs.vmware.com/en/vRealize-Automation/7.1/vrealize-automation-71-installation-
andconfiguration.pdf
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QUESTION 4

Which two administrator types will be set up during the configuration of a new tenant? (Choose two.)
A. Tenant Administrators

B. Infrastructure Administrators

C. Business Group Administrators

D. Approval Administrators

Correct Answer: AB

Reference: http://www.virtualjad.com/2017/02/vra-7-2-dig-07-initial-tenant-configuration.html

QUESTION 5
A vRealize Automation Tenant Administrator has identified a virtual machine with low resource utilization. The owner
has been given 5 days to respond to the reclamation request. The blueprint used to build the virtual machine has an

archive period of 10 days and there are 21 days left in the original machine lease.

If the owner responds today confirming the virtual machine is no longer needed, how many days will elapse before the
virtual machine is destroyed?

A. 10 days
B. 31 days
C. 21 days
D. Today

Correct Answer: A

QUESTION 6

What are two prerequisites when integrating vRealize Automation with NSX? (Choose two.)
A. A vCloud Air endpoint has been created.

B. A vRealize Orchestrator endpoint has been created.

C. A vSphere endpoint with network and security has been created.

D. An NSX endpoint has been created.

Correct Answer: CD
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QUESTION 7

Which two types of identity stores can be configured for a tenant? (Choose two.)
A. Active Directory

B. OpenLDAP

C. vSphere Single Sign-On (SSO)

D. Active Directory Lightweight Directory Services

Correct Answer: AB

Reference: https://docs.vmware.com/de/vRealize-
Automation/7.2/com.vmware.vra.programming.doc/GUID-80B86017BB27-4847-A7A8-E83850877041.html

QUESTION 8

What is one reason snapshots would NOT be available in the Clone from snapshot window when using the Linked
Clone build Action?

A. The source virtual machine should be a virtual machine template.

B. The source virtual machine has multiple snapshots.

C. Data collection must be run for the vSphere Endpoint to retrieve the snapshot information.

D. Data collection must be run for the Compute Resource to retrieve the snapshot information.

Correct Answer: D

Reference: https://docs.vmware.com/en/vRealize-
Automation/7.5/com.vmware.vra.prepare.use.doc/GUID-6D6622E2984E-4716-9414-E6ECD1BDD4D3.html https://docs.

vmware.com/en/vRealize-Automation/7.4/com.vmware.vra.prepare.use.doc/GUID-FC7B23FD28B0-413A-
AD3C-55488B534D0OE.html

QUESTION 9

Which three options are valid customizable state change workflows? (Choose three.)
A. WFStubMachineDisposed

B. WFStubBuildingMachine

C. WFStubMachineProvisioned

D. WFStubMachineUnprovisioned

E. WFStubUnprovisionMachine

Correct Answer: BCE
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Reference: https://docs.vmware.com/en/vRealize-
Automation/7.1/com.vmware.vra.extensibility.doc/GUID-81EF73B2002B-45DE-B6B3-85E7D5C9A934.html

Master Workflow State Customizable Workflow Name
BuildingMachine WFStubBuildingMachine
Disposing WEStubMachineDisposing
Expired WEStubMachineExpired
MachineProvisioned WFStubMachineProvisioned
RegisterMachine WEStubMachineRegistered
UnprovisionMachine WEStubUnprovisionMachine
QUESTION 10

Which three options will ensure that all machines deployed by the finance business group have the same Distributed
Firewall rules? (Choose three.)

A. Using Service Composer, create a Security Policy named Finance with the firewall rules.

B. Using Service Composer, create a Security Group named Finance based on machine name and specify the Finance
Groups Machine Prefix.

C. Using Service Composer, assign the Finance Security Policy to the Finance Security Group.
D. Using the Distributed Firewall, create a Security Policy named Finance with the firewall rules.

E. Using the Distributed Firewall, create a Security Group named Finance based on machine name and specify the
Finance Groups Machine Prefix.

Correct Answer: ABC

QUESTION 11

When managing a resource provisioned with XaaS, what must an administrator do to manage that resource with the
XaasS actions they created?

A. Define the actions list as custom properties on the service.
B. Publish the actions and add them to the same entitlement as the service.

C. Add the actions to the blueprint used to provision the resource.
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D. Create and attach the actions to the same entitlement as the resource.

Correct Answer: B

QUESTION 12

When an administrator attempts to create a vSphere reservation for a business group, the compute resources drop-
down menu is blank.

Which option best explains this behavior?

A. The business group already has a reservation with the same compute resources.
B. The compute resources have been assigned to multiple tenants.

C. The compute resources have already been used in other reservations.

D. The user has NOT been assigned the Fabric Administrator role.

Correct Answer: B

QUESTION 13

Which option would explain why an error message is displayed when the vRealize Automation Software architect
attempts to add the Load Init Data software component?
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WJ3ozs Applicaton Server
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A. The software component has syntax errors.

B. The software component is NOT published.
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C. The software component\\'s container is NOT properly defined.
D. The software component action has an incorrect script type.

Correct Answer: C

QUESTION 14

Which vCloud Air authorization level is required to add vCloud Air as an Endpoint in vRealize Automation?
A. VPC User

B. End User Role

C. Read-only Administrator

D. Virtual Infrastructure Administrator

Correct Answer: D

Reference: https://www.vmguru.com/2015/09/setup-a-vcloud-air-endpoint-in-vrealize-automation/

QUESTION 15

The machine prefix infra_server_ was created for the IT business group. The machines being provisioned are named
ITO001, ITO002, etc.

Which option could account for this behavior?

A. The requestor was NOT a member of the Group Manager Role.

B. The IT business group does NOT have a Default Machine Prefix defined.
C. Another machine prefix was assigned to the endpoint.

D. The machine prefix was NOT enabled.

Correct Answer: B
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